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A step-down transformer used to run a toy
train has an input of 120 volts to its primary
coil. A potential difference of 12 volts is
indrueedtinthe secondary coil, which carries
a current-ef 12%amperes. If the transformer
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o Which device converts electrical energy
into mechanical energy?
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e What is the miagnitude of the electrostatic

force acting on an electron located in an
electric field having a strength of 5.0 x 103

An operating electric iron draws a current
of 5 amperes and has a resistance of 20
ohms. The amount of energy used by the
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meta=sph, ig doudtea-andihe distance

between thé sphefes remains fixed, the
magnitude of the electric force between the
spheres will be
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B two times as great
C one-half as great
D four times as great
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A 4203 i ‘
B|1200 |
C 7200

D | 72,000J =t

Whatlis the smalles' electic ¢hasgm-that
can be put on an object?

A 9.11x 109 C ?@

2
B 1.60x1079C ?‘p,’?
€ 9.00x10°C @' * B
pe2sxiotc  HRPT
e "7

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership

Electricity and Electrical Energy - Set |

Class

Which device converts electrical energy
into mechanical energy?

A-motor —— i1
E aensrae! i {|
(o] aRiem-——y l ! [E
D pl I

Date

A step-down transformer used to run a toy
train has an input of 120 volts to its primary
coil. A potential difference of 12 volts is
indrueedtinthe secondary coil, which carries

a current-ef 12%amperes. If the transformer
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What is the miagnitude of the electrostatic
force acting on an electron located in an
electric field having a strength of 5.0 x 103

An operating electric iron draws a current
of 5 amperes and has a resistance of 20
ohms. The amount of energy used by the
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If the inleath of Mesmall chatged
meta=sph, ig doudtea-andihe distance
between thé sphefes remains fixed, the
magnitude of the electric force between the
spheres will be

A the same

B two times as great
C one-half as great
D four times as great
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12 ohms. How much energy does the
heater use in 60 seconds?
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Whatlis the smalles' electic ¢hasgm-that
can be put on an object?
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